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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the various interpretations regarding the origin 

of feudalism. 

lkearokn dh mRifŸk ds laca/k esa fofHkUu vo/kkj.kkvksa dk 

foospu dhft,A 

2. Write an essay on new agricultural practices in 

England. 

baXyS.M esa uohu d`f”k iz.kkyh ij ,d fuca/k fyf[k,A 

3. What do you understand by Industrial Revolution ? 

Discuss its impact. 

vkS|ksfxd Økafr ls vki D;k le>rs gSa \ mlds izHkko dh 

foospuk dhft,A 

4. Explain the significance of American Revolution. 

vesfjdh Økafr ds egRo dks le>kb,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

Briefly discuss the following : 

fuEufyf[kr ij la{ksi esa ppkZ fyf[k, % 

1. Vassalage 

oSly,st@tkxhjnkjh 

2. Economic structure of the Ottoman Empire 

vksVkseu lkezkT; dk vkfFkZd <k¡pk 

3. Enclosure movement 

ckM+kcUnh vkUnksyu 

4. Factory system‟s features 

QSDVªh flLVe dh fo’ks”krk,¡ 

5. Fundamental characteristics of liberalism 

mnkjokn dh vk/kkjHkwr ekU;rk,¡ 

6. Romanticism 

LoPNUnrkokn 

7. Napoleon 

usiksfy;u 

8. Peasant revolt of Russia in 1773-75 

:l esa 1773&75 dk d`”kd fonzksg 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Which book was written by Marc Bloch ? 

(a) Feudal Society 

(b) Slave Society 

(c) Capitalist Society 

(d) Principia 

ekdZ CykWp }kjk dkSu&lh iqLrd fy[kh xbZ gS \ 

¼v½ lkearh lekt 

¼c½ nkl lekt 

¼l½ i¡wthoknh lekt 

¼n½ fizfUlfi;k 

2. Who said that “Feudalism was mainly an 

administrative system and not an economic or social 

one” ? 

(a) Joseph R. Strayre 
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(b) Rushton Coulborn  

(c) Both of the above 

(d) None of the above 

;g fdlus dgk ßlkearokn eq[; :i ls ,d iz’kklfud 

O;OkLFkk Fkh u fd ,d vkfFkZd ;k lkekftdÞ \ 

¼v½ tkstsQ vkj- LVªs;js 

¼c½ j’kVu dksycksuZ 

¼l½ mi;qZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. „Magna Carta‟ did one of the following : 

(a) Decreased the power of the king 

(b) Increased the power of the king 

(c) Maintained the status quo 

(d) None of the above 

^eSXuk dkVkZ* us fuEufyf[kr esa ls ,d dk;Z fd;k % 

¼v½ jktk dh ‘kfDr ij vadq’k yxk;k 

¼c½ jktk dh ‘kfDr dks c<+k;k 

¼l½ rVLFkrk cuk, j[kh 

¼n½ mi;qZDr eas ls dksbZ ugha 

4. Gabella was a tax related to : 

(a) Sugar 
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(b) Salt 

(c) Pulse 

(d) Oil 

xscsy ,d dj Fkk tks fd lacaf/kr Fkk % 

¼v½ phuh ls 

¼c½ ued ls 

¼l½ nky ls 

¼n½ rsy ls 

Answer in one word : 

,d ‘kCn esa mŸkj nhft, % 

5. Who wrote „The Social Contract‟ ? 

^n lks’ky dkWuVªsDV* uked xazFk fdlus fy[kk \ 

6. Who invented „Flying Shuttle‟ ? 

^¶ykb±x ‘kVy* dk vkfo”dkj fdlus fd;k \ 

7. Out of Sweden, Norway, Denmark and Ireland which 

one is not a Scandinavian country ? 

LohMu] ukWosZ] MsuekdZ ,oa vk;jyS.M eas ls dkSu&lk ns’k 

LdsufMusfo;kbZ ns’k ugha gS \ 

8. Out of Montesquieu, Voltaire and Rousseau who 

survived between 1712-1778 ? 

ekWUVsLD;w] okYVs;j ,oa :lks esa ls 1712&1778 ds e/; 

fdldk thoudky gS \ 
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9. When did the „Boston Tea Party‟ take place ? 

^cksLVu Vh ikVhZ* dkSu&ls o”kZ esa ?kfVr gqbZ \ 

10. In which year George Washington became the 

President of America ? 

tkWtZ okf’kaxVu dkSu&ls o”kZ esa vesfjdk ds jk”Vªifr cus \ 
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